
ASSIGNMENT 20 
 

  
 
The data have the following form:  

1-2        ID 
4          GROUP 1=RP  2=NORMAL 
6          TREATMENT GROUP 
             A=LIGHT 
             B=DIM 
             C=DARK 
8-9        AGE 
11-14      B AMP 
16-19      A AMP 

 

Analyze the data regarding the sunlight hypothesis using a model in 

BUGS. Consider the B-wave amplitude to fit a model with different slope for 

each treatment group. Consider various transformations and distributions and 

decide on which model is appropriate using Bayesian arguments. 
 
 
 


